
 
 
 
 
 
 
 
 
 
 
 

 
 
 

 
 
 
 
 
 
 
 
 
 
 
 

 

8 8 

8 

8 

3 

3 5 

6 + 6 + 10 = 22 

22 ÷ 2 = 11 

Apples: 18 

30 – 18 = 12 

Bananas: 12 

18 – 12 = 6 

65 

56 

25 

5 

75 

45 



 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 

 

68 + 42 = 110 

110 ÷ 2 = 55 

So, James and Mo will both have £55 

Find the difference between 68 and 55: 

68 – 55 = 13 

Monday: 10 pages 

Tuesday: 15 pages (10 + 5) 

10 + 15 = 25 

60 – 25 = 35 

45 ÷ 5 = 9 

There are 9 in each jar. 

9 + 9 = 18 (18 in 2 jars) 

Triangle = 25 

Circle: 25 – 12 = 13 

Heart: 13 + 32 = 45 

Sum: 45 + 25 + 13 = 83 



 
 
 
 
 
 
 
 
 
 
 
 

 

 
 
 
 
 
 
 
 
 
 
 
 

 

Height of two cubes: 

(28cm – teddy height) 

28 – 12 = 16 

One cube: 

16 ÷ 2 = 8cm 

He saves 5p a day (2p + 2p + 1p) 

38 + 17 = 55 

 

55 ÷ 5 = 11 

Multiple answers: 

5 x 6 = 30 

16 ÷ 8 = 2 
 

6 x 5 = 30 

16 ÷ 2 = 8 

2 x 8 = 16 

30 ÷ 6 = 5 
 

8 x 2 = 16 

30 ÷ 5 = 6 

 

5 apples in the bag 

A quarter means: ‘one part out 

of 4’ 

5 x 4 = 20 



 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

 

 
 
 
 
 
 
 
 
 
 
 
 

 

15 + 15 = 30 

As they are balanced, both 

sides must be 30kg. 

30kg ÷ 5 = 6kg 

4 bunches of (5) bananas needed. 

£2 x 4 = £8 (20 bananas) 

£3 x 3 = £9 (3 pineapples) 

£8 + £9 = £17 

3rd from front 

4th from back 

6 children in the line! 

Last numbers are 5 times table 

5 x 7 = 35 



 
 
 
 
 

 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

= 

> 
20 20 

43 44 

8 6 
> 

Note: for the second one, you don’t 

actually need to calculate each side. 

72 – 29 is nearly the same as 72 – 28 

but you are subtracting one more so 

that side must be smaller). 

5 5 

8 8 

8 

8 

5 

5 

13 

40 

Lightest dog: 15kg 

Heaviest dog: 42kg 

 

Find the difference: 

42 – 15 = 27kg 

75 – 12 = 63 

 

63 – 40 = 23 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

Note: It can be a good idea to fill in all missing parts 

of number lines in questions like this. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

John: 18 stickers 

Tim: 18 + 12 = 30 stickers 

Filip: 18 + 20 = 38 stickers 

(because Filip has 20 more than John) 

 

38 + 18 + 30 = 86 

25 28 32 

22 24 26 34 

30 40 50 60 70 

5 bags of 4 apples: 

5 x 4 = 20 

 

50 – 20 = 30 

So, 30 left in bags of 5. 

30 ÷ 5 = 6 

861 681 186 168 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 

 
 
 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Sophie: 416 pages 

Mo reads 127 less than Sophie 

Mo: 416 – 127 = 289 

5cm x 7 = 35cm 

35cm + 4cm = 39cm 

Elephant must be 10 

Owl must be 3 (12 ÷ 3 = 4) 

Turtle must be 8 (24 ÷ 3 = 8) 

8 + 3 + 10 = 21 

21 
3 

3 

3 

3 

24 

24 

24 

24 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 

495 490 485 480 475 

470 

5 5 

5 5 

5 is the only possible answer. 

Libby: 430 marbles 

Jamal: 430 – 121 = 309 

(Remember: ‘fewer than’ means ‘less mean’) 

500 – 309 = 191 

(Counting on would also work here) 

Jamal needs 191 more marbles. 


